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A plant germination method is successful on average 4 times out of every 10. A horticulturist develops
a new technique which she believes will improve the number of plants that successfully germinate. She takes
a random sample of 50 seeds and attempts to germinate them. Suppose random variable X is defined as the

number of plants that successfully germinate. Using a 5% level of significance, find the rejection region for a

test to check her belief.

Ans : the rejection region is

o

(Use the given binomial cumulative distribution function. The tabulated value is P(X <x)

binomial distribution with index n and parameter p.)

. where X has a
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